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CUrrent = SIWAPORN C.

plount = processNo.counkt()
(i . cpCount - 1}
wailt: Int = current - arrivalTime[i]
. add | 1-1;' it)
current+=cpubBT [i]
|
averageWaitingTime () : Double|
Sum = . SUm{ |
average: Double = (sum /[ .count(}} .toDoub
average
chart ()
result =
scale =
CUrrent = CALCULATING
used: LrrayvList<Int> = ArravList()
pCount = processlo.count()
(i . cpCount - 1)

—_—

result.plus(i)
(] . .nalf — 1}
result = result

|

current += cpubBT[i]

nsed.add (current)

—_—




rrival Time

1
—
o

nrst ITime

Waiting Time: [0, 9, 13, 20]
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Example of Preemptive SJF

Process Amival Time Burst Time
= 0.0 7
P, 20 4
Py 4.0 1
P, 5.0 =
F F: |Py F. F, P,
I I I I e
oo 4 & T 1 =
average waiting time = (9 +1 + 0 +2)/4 =3
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ii < processio)
11l < proce O ]

jall

dd {cpuBT [1])

—_—

-

lowIndex = lowest ()
R T,
{cpuBT [ lowIndex] !'= 0}

s I I I T e PR T
L0000 LOW1LlNaex)

cpubBT [lowIndex]= lowlndex -
finishedTime[lowIndex]= (i + 1)

—_—

CALCULATING

{cpuBT [ lowIndex] == 0}
[lowIndex] =

—_—

calculateWaitingTime () : Double

.; . T e i1t = e T 1
(i . . [processio.toDouble () — 1) .toInti))
waltingTime [i] = finishedTime[i] - cpuBackUp[i] -

—_—

—_—
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Process Number: 1 2 3 4 5
Burst time: 2 4 7 ©

OPERATING SYSTEM
SIWAPORN C.

[ I

Waiting time: 0 1 10 3 15

Average walting time = 5.8

SJF
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‘PS ‘P4 ‘PE ‘PE ‘P]

0 3 12 16 19 28

IWI=19+12+ 0+ 5+ 16=52 mills
AWT=52/5=10.4mills
I.I.T=28+10+5+ 12+ 19 =80 mills.
ATLT=E0/5= 16 mills.
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SCHEDULING


https://gs-blog-images.grdp.co/gate-exam/wp-content/uploads/2015/11/26171230/image0042.png

— = e 5T =

| 4] ! -I
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prioList = readLins() !!.split{ SIWAPORN C.

cpuBackUp = cpuBT

(SE = L = = B [y [ - = — — —=
finishedTime = Collections.nCopi
[ L - - - —_— T 7 - - - . - g
waitingTime = Collections.nCopie

(i cpuBT)

[

PRIORITY
(1t comt() = 1) | SCHEDULING

= |
I
|
]

[

CALCULATING

[

{i < processNo)
i1 < PpIrOCce ]

.add (priocList[i])

[

1 TrAsw —_ 1 o= += I
10W.lNnaex = 10OWE3IL )

(cpuBT [ lowIndex] !'= 0)

T

00 L0Wlnaex )

L L LT

cpuBT [ lowIndex] .plus | lowIndex -1)

finishedTime [lowIndex].plus| i + 1}
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Process No: Walting Time:

) OPERATING SYSTEM
1 0] SIWAPORN C.
2 1

4 12

3 24

verage Wating Time : 8.0

PRIORITY
SCHEDULING

Process finished with £xit code 0
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Frocess Armival

service

Note.

Example violates ,

Time Time guantum size since
1 0 3 processes don't finish in «
2 1 4 quantum.
3 2 ]
4 3 5
Round Robin, quantum =4, no priority-based preemption
P1 P2 P3 P4 P1 P3 P4 P3
0 4 2 16 20 24 25 26

Average wait = ( (20-0) + (8-1) + (26-2) + (25-3) )/4 = T4/4 = 18.5

ROUND
ROBIN
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:5:‘:.1:.2 = — OPERATING SYSTEM
s o SIWAPORN C.

temp = [1]
(lastNo.contains (temp) && (templd != [i1))
lastHo[temp] = 1
] (tempd = [1]1}
1
J
lastHo[temp] = 1
tempd = [i]

—_—

——

calculateWaitingTime () : Double |
e ROBIN
(i . . Linished. - 1) |

4 m~m T 1 - — T I L R - = 1 —— , 4 er [ 57
temp:Double = (finishedTime[i] - cpuHistory[i]
waltingTime.add (temp)

—

(i . wWaltingTime. - 1) 1
sum += waitingTime [i] CA LC U LA I I N G
1
1
temp: Double = (waltingTime. ] - toDouble ()
sum Lemp
(endTime: Int, number: Int): Int
temp =
(i . EndTime)
(mumber == [i]}
temp = 1

—_—
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